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Exam 2
Fall 2010 Show ALL work

1) Dr. Benton wants to investigate the potential spread of germs by contact. She knows that
the number of possible handshakes within a group of x people, assuming each person shakes
every other person’s hand only once, is given by N = %(x* —x). There are 30 people at a party,

how many handshakes are possible?

= +(367-30) = 4 (900-30) =L (§10) = 435

2) A right triangle has a 16 foot leg and a 20 foot long hypotenuse. What is the length of the

other leg? 2 2
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3) Find all numbers for which the following rational expression is not defined. ;2_1
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